	QUIZ #6
	CIS 068 Section 2, Time : 12 minutes
	Date : 3 / 26 / 03

	Topics :
	Streams, Stacks, Recursion

	NAME (printed):
	


	QUESTION
	SC

	Assume the following coding-scheme given:
(top row: character, bottom row: value)
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values 20 – 255 are assigned to the character ‘.’

Please write down the resulting byte-code representing the text file containing the string “TEXT-FILE_!” 

Now assume a file given by the byte values:
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If you read this file as a text file, what’s the result ?     
If you read this file as a binary file, presuming the data is given as a list of 2byte-values, showing the MSB (most significant byte) first, what’s the result ?

Given a file with the byte-values
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Would you expect this file to be a text file encoded by the above scheme ?
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	How is the JVM-internal stack used calling an object’s method ?

(please use backside) 

· 
	2

	Write a short RECURSIVE code that computes the value of 

f(n) = 1+ 2 + 3 + ... + n
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	Bonus Question:

name 2 more possibilities to solve the above equation. Which one is the fastest ?
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	Signature:



